Attica Intermediate Classical Greek

II.

Exercise Five Key

Form Identification. 1dentify the following forms. List all possibilities.
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exa0éCeto: 31 sing. imperf. mid./pass. (deponent) ind. of k&Onuat
dvtoc: gen. sing. m./n. pres. part. of eiji

£wowv: 1%t sing./3t pl. imperf. act. ind. of 6pa&w

vevnoowvto: 31 pl. fut. mid. (deponent) opt. of ytyvopat

Alrtetv: aor. act. inf. of Aelmw

deEapevor: nom./voc. pl. m. aor. mid. (deponent) part. of déxopat
Noewv: 1st sing. pluperf. act. ind. of oidax

évopiCov: 2 sing. imperf. mid./pass. ind. of vopiCw

miéoou: 31 sing. aor. act. opt. of mintw

avéAaPov: 1t sing./3 pl. aor. act. ind. of avaAauBavw

nioAwteia: dat. £. sing. of moAtteia, -ag, 1)

ruotevoelav: 31 pl. aor. act. opt. of moTEVW

kaAéoal aor. act. inf. and 3 sing. aor. opt. act. of kaAéw

elvaL: pres. inf. of eipt

amodopevot: nom./voc. pl. m. aor. mid. part. of &odidwyit
uetéxotev: 3t pl. pres. act. opt. of petéxw

wv: gen. pl. m./n. of relative pronoun &g, 1j, 6

éruokéPaoOe: 2nd pl. aor. mid. imperative of émokomtéw
avieoav: 31 pl. imperf. act. ind. of avinpt

veyévnoat: 2 sing. perf. mid./pass. (deponent) ind. of yiyvopat

Dictionary Drill. List the dictionary entry and meaning of each of the following words. You
may use a standard lexicon or the dictionary in the back of this textbook.

1.

10.
11.
12.

pvnoOnoopat: Hpviokw/UUviokw, pvow, épvnoa, ---, LKEPvVNUAaL, ---, EUvioony;
remind; call to mind, remember, mention (mid. and pass.)

mEoOoTaX0€V: MEOOTATTW, TMEOOTAEW, MEOTETAL, ---, TIQOOTETAYHAL, QOO ETAXONV;
order

duvopeveic: duopevr, -ég; ill-disposed

TLOLET)QOVVTO: TIAQALQEW, TIAQALQTOW, TIXQELAOV, TIAENOTKA, TIOLETON AL, TIAQT0EONV;
take away

nevéotagc: mMevEaTng, -ov, 6; serf, laborer

dtekwAvoa: dAKWAVW, DKWAVOW, dlekwAvoQ, ---, ---, dtekwAVONV; hinder, prevent
Kataotoeav: kaBlotnut, Kataotow, katéotoa (trans.)/katéotny (intrans.),
kaOéotnka, -, kateotaOny; establish, place, set (as guards); settle; be, come, arrive, be
established (intrans.)

yovunv: yéopat, nynoopat ynoauny, ---, ynuay --- ; lead, lead the way; think,
consider

adatgovuevol: apapéw, ddalonow, adeirov, adpronka, adrjonuat, apnoédnv; take
away

avemmdnoe: avanndaw, avamndroouat, dvemmdnoa, ---, ---, --- ; leap up

npa&avtoc: mpattw, mMEalw, Empala, ménpaya/mémoaxa, mémpaypat, E€modyxOnv; do
NTUOTAUNV: EMIOTAMAL, EMOTHOOUAL, ---, ---, ---, )TULOTONV; know, understand
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13. KQATNOELV: KQATEW, KQATIOW, EKQATNOA, KEKQATNKAX, KEKQATNHAL EKQaTONV;
conquer, overwhelm

14. XWHATL XWHA, -aTog, TO; promontory

15. gmexelonoa: EMxelQéw, EMIXELQNOwW, EMeEXEQNOQ, EmukeXElONKa, émukeXelonpalL,
EmexelnOnv; try, attempt

16. niéoavteg: mélw, ---, Enleoa, ---, memieopal, EMEcONV; press

17. éYnodloato: YnoiCw, Ynow, éPrdloa, ---, EYmdopat, éPneiocdnyv; vote, vote for

18. KTaoOaL: KTAopAL, KTIOOHAL, EKTNOAUNY, ---, KEKTNUAL, €KTrOnV; get possession of

19. nabwv: maoxw, Telooual, émabov, ménovOa, ---, --- ; experience, suffer

20. dlaAexOelc: daAéyopal, diaAé€opat, -—, -—, -—, dteAéxOnv; discuss, deliberate, converse

ML Accent Drill. Place the correct accents on the following words and justify your choices.

1. ngooeABdv: Second aorist participles are accented on the first syllable of the participial
suffix.

2. voiCw: Verbs take recessive accent (R1.4). The ultima is long, therefore the penult is
accented.

3. kawvois: Adjectives have a persistent accent (R1.5). A first and second declension noun

or adjective that takes an acute on the ultima in the nominative singular will take a
circumflex on the genitive and dative, singular and plural (R1.5.4).

4. Oavatovuev: Contract verbs are accented according to where the accent falls on the
uncontracted form (Bavatoopev). If the accent falls on the first of two contracting
vowels, the resulting accent will be a circumflex on the contraction.

5. Oewv: Nouns have a persistent accent (R1.5). A first and second declension noun or
adjective that takes an acute on the ultima in the nominative singular will take a
circumflex on the genitive and dative, singular and plural (R1.5.4).

6. ntepl: Most disyllabic prepositions are accented on the ultima.

7. €yoapav: Verbs take recessive accent (R1.4). The ultima is short, therefore the
antepenult is accented.

8. Bwpov: Nouns have a persistent accent (R.1.5). A first and second declension noun or

adjective that takes an acute on the ultima in the nominative singular will take a
circumflex on the genitive and dative, singular and plural (R1.5.4).

9. €ENAOe: The accent on a compound verb cannot precede the augment (R1.6).

10 avrjoopev: Verbs take recessive accent (R1.4). The ultima is short, therefore the
antepenult is accented.

11. tols: An extension of the rule regarding oxytones (R1.5.4).

12. oUtou: Pronouns take a persistent accent R1.5). Since the penult is long and the ultima is

short, the accented penult must bear the circumflex (R1.3.3.3).

Iv. Translation Strategy Practice. Each of the following sentences has a purpose or fear clause (R9.1,
9.2). Before translating the sentence, underline the main verb of each sentence, the subordinating
conjunction that introduces the fear or purpose clause, and the subjunctive or optative in this
clause. Remember that a primary main verb will be followed by a subjunctive in the subordinate
clause, while an optative is usually found in the subordinate clause when the main verb is
secondary. (red=main verb; green=subordinating conjunction; blue= subjunctive;
purple=optative)
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1. 1@V pakov tetx@v kabawpebévtwv ol toudkovta apednoovtat iva Tovg VOUoUg
ouyyedwoLy.
After the long walls are destroyed, the Thirty will be chosen to write down the laws.

2. ol ABnvaiot gofotvral un Onoapévng kat ot oLV avT@ MEECBELS ATIEAKTOL HKWOLY.
The Athenians are afraid that Theramenes and the ambassadors with him may return
unsuccessful.

3. ol ToaKovVTa TOUG HEV LETOIKOUG ATEKTELVAY Kol T D€ XQNHATA AVTOV ATECURVAVTO
Omwg €xoLev Tols (GEOVEOLS XONHATA.
The Thirty killed the metics and confiscated their property so that they would have money
for the guards.

4. Muelc d¢ anokTevoLuey Ekelvoug pundév adkovvTag va xorpata AdBwuey ;
Shall we kill those men though they are doing no wrong so that we may take their property
(or, in order to take their property)?

5. 0 Koutiag te kat ol aAAot toiakovta £hoBolvTo L) guQouenoay mEog Onoapévny ol
TOALTaL
Critias and the rest of the Thirty were afraid that the citizens would gravitate toward
Theramenes.

V. Translation. Translate the following sentences into clear and grammatical English. Identify the
form and explain the syntax of each of the boldfaced words.

1. el pr oot kovwvovg tkavoug Afjpovtal advvatov Eéotat v oAryagylov dapévery.
If these men do not take on sufficient partners, it will be impossible for the oligarchy to
survive.
éotaw 31 sing. fut. ind.; apodosis of a future most vivid condition (R10.4)

2. 10UtV yevopévwy EENV molelv ékelvols 6 Tt fovAotvTo.

After these things happened, it was possible for them to do whatever they wished.
vevopévwv: gen. pl. n. aor. mid. (deponent) part.; genitive absolute (R6.5)

BovAowvto: 31 pl. pres. mid. (deponent) opt.; conditional/indefinite relative clause (R11.2)
analogous to a past general condition (R10.3)

3. 1 yévnoOe, @ ABnvaiol, Gpidot toic Aakedarpoviols.

Don’t become, O Athenians, friends with the Lacedaemonians.
vévnoOe: 20 pl. aor. mid. (deponent) subjunc.; prohibitive subjunctive (R8.3)

4. &av rwva aioBavaopeda évavtiov ) oAryaoxia, Ekmodwv momoopeOa.

If we perceive that someone is opposed to the oligarchy, we will put him out of the way.
aloBavwpeda: 1t pl. pres. mid. (deponent) subjunc.; protasis of a future more vivid
condition (R10.4)

5. el ékelvog €€ apxng Tavta €yvw, movnEOg Y av dukaiwe évouiodn.

If that man had known these things from the beginning, he would have justly been
considered despicable.
évopioOn: 31 sing. aor. pass. ind.; apodosis of a past contrary-to-fact condition (R10.5)

6. (va d¢ eldNTe OTL 0V KAV TADTA OUTOG TMOLEL, AVAUVIOW VUAS TX TOUTW TEMQXYHEVA.
So that you may know that this man is doing things that are not new, I will remind you <of>
the things that have been done by him.
eldnte: 2 pl. perf. act. subjunc.; subjunctive in a purpose clause after primary main verb
(R9.1)

7. el ovTog O Kakog ATOAOLTO, DTIOTEUOL AV TAG EATIDAS TAG TTAVTWY TWV TEODOTWV.

If this wicked man should perish, he would cut off the hopes of all the conspirators.
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vrotéuot: 34 sing. aor. act. opt.; apodosis of a future less vivid condition (R10.4)

ol AOnvaiot ¢ovto ToAAoVG &V 1) moAeL Al amoAeioOat.

The Athenians thought that many in the city would die of hunger.

amnoAeioBat fut. mid. (semi-deponent) inf. ; acc./inf. construction of indirect statement (R7.1)
el 00tog OwOELN, TOAAX KAKAX TIQOG TNV TTOALV TIOUOELEV AV.

If this man should be saved, he would do many evil things against the city.

owOein: 3 sing. aor. pass. opt.; protasis of a future less vivid condition (R10.4)

Onoapévng mepdOeic diéToLBe magd Avoavdpw TEELS UNVAG.

Theramenes, after he had been sent out, spent three months in the presence of Lysander.
unvag: acc. pl. m.; accusative of duration of time (R3.4.2)

Error Analysis. Each of the English translations of the Greek sentences contains a translation
error. Detect the error (or errors), determine what is incorrect, and write a correct translation.

Otav Avoavdog dn) Tva mov aAdov ABnvaiov, anortépet eic tag AOnvac.
Whenever Lysander should see some other Athenian somewhere, he would send him back to
Athens.

Correct translation: Whenever Lysander sees some other Athenian somewhere, he will
send him back to Athens.

Error: {dn) is a subjunctive (not an optative) in a conditional/indefinite temporal clause
(R11.4). &momtéupetis in the future and since the main verb is primary, ‘will’ is the
appropriate translation, not ‘would.” The form is analogous to a future more vivid
condition (R10.4).

EAeyev 0 Onoapévng 0Tt el U] KOWWVOLG Ikavoug AQUPAVOLEV TV TOAYHATWY,
advvatov €ooLto TNV OAryapxiav dlaLévery.

Theramenes said that if sufficient partners were not taken of the affair, it would be impossible for
the oligarchy to survive.

Correct translation: Theramenes said that if they did not take on sufficient partners in the
government, it would be impossible for the oligarchy to survive.

Error: AapPdvoleyv is active, not passive. It is in the optative mood in a subordinate
clause in an indirect statement construction after a secondary main verb (R7.5). It is
replacing an original present subjunctive. This is a future more vivid condition in
indirect statement, as the future optative (¢cotto) in the apodosis makes clear.

éxetvol tov KaAAiBlov é0epamevov tva mavta émawvolrn).

Those men were flattering Callibios so that all things might be approved.

Correct translation: Those men were flattering Callibios so that he would approve
everything.

Error: émawvoin is active, not passive.

€L 0UTOG €001, MTOAAX KK TEOG TV TOALY €TOiNoeV av.

If this man is saved, he will commit many wrongs against the city.

Correct translation: If this man had been saved, he would have committed many wrongs
against the city.

Error: This is a past contrary to fact condition (R10.5), not a future more vivid condition
(R10.4).

el yag ol twv ABnvaiwv moAAoL €v T ToAeL Al pr) amtoAotvto.

Many of the Athenians in the city might not die from hunger.

Correct translation: If only many of the Athenians in the city would not die of hunger!
Error: This is an optative of the wish (R8.4), not a potential optative (R8.5).



